PARTS LIST

Title:

PRO-500-015 OXFORD PARK BENCH

Product Range:

OUTDOOR FURNITURE

ITEM QTY PART NUMBER DESCRIPTION STOCK NUMBER
1 2 |TB-200-062 1800 x 145 x 45 COMTIMSAWO0005
2 2 |TB-200-118 1800 x 190 x 45 COMTIMSAWO0004
3 2 |MT-300-011 BENCH END FRAME
4 | 16 M10 x 60 BUTTON HEAD M10 X 60 FLANGED BUTTON HEAD (ISO 7380) COMHARSTA0022
5 16 |M10 WASHER M10 WASHER (DIN 125) COMA2FWM10
© ® )
[ ] [ ]
\e\ \®\
[ ‘ ‘ | | i | 1 |
(o] \ ]
i i 3
| | o
| | Iy
‘ ‘ 261
| SURFACE LEVEL |
| |
| | N
| | o
t 1400
~
[
(0] o] ©
o ° N
<
© ® UNLESS OTHERWISE SPECIFIED: PROPRIETARY AND CONFIDENTIAL
DIMENSIONS ARE IN MILLIMETERS THE INFORMATION CONTAINED IN THIS
° © TOLERANCES: DRAWING IS THE SOLE PROPERTY OF
LINEAR: +2MM FENLAND LEISURE PRODUCTS. ANY
1 DECIMAL PLACE: +0.5MM REPRODUCTION IN PART OR AS A WHOLE
ANGULAR: +1° WITHOUTTF:;EFV;/S’{‘{LE’\:\IDPERMISSION
1800

\ |
o \\\‘\\\1\?\ Pﬁ‘
-. /| H

online playgrounds

Date:

05/12/2018

Page: 1

DO NOT SCALE FROM DRAWING A3

Tel: 01354 638359 www.onlineplaygrounds.co.uk




